Year 5 Maths Homework - 3.2.20 - Mercury Group

James went to the shop and bought a magazine for £3.80,
and some biscuits at £3.50.
How much does he spend altogether?

Mia just loves swimming, and she bought some new goggles at £7.40.
When she took them to the till, they came up at half price.
How much did Miad’'s swimming goggles cost?

A One Direction CD costs £8.40, whilst Little Mix's CD costs £5.70.
How much do they cost altogether?

Josh paid £6.20 for 2 pairs of new football socks.
How much does each pair cost?

Train tickets from Nottingham to Birmingham cost £11.20 for a single journey.
How much would it cost for 2 tickets??

A child's ticket to the cinema costs £5.60, whilst an adults costs £8.50.
How much would it cost for one of each altogether?



